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46 SECRETS OF CHESS INTUITION
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Larsen — Chandler
Hastings 1987/8

////////

1 Wxa8! &)xa8 2 Exa8 2h6

In order to generate some sort of
counterplay.

3 9H\df3 We7 4 £xb7 £d7

After the exchange of bishops,
White has the simple plan of advanc-
ing the c4-pawn.

5 Exe8+ £.xe8 6 2.d5!

Controlling the maximum amount
of squares.

6..%d6 7 Eb7

The prophylactic 7 h4 also deserves
attention.

7...g5 8 hd! gxhd 9 &HHxh4 £d7 10
Def3 14 11 Led fxg3 12 fxg3 Le3+
13 ©g2 2.4 14 Exh7+ 2g8 15 Eb7

Black can safely resign — the threat
of 9g6 followed by £.d5+ wins.

In the following position, White de-
cided to invest some material in order
to activate his pieces.

1 Wxds!

Sakaev thought that 1 ¥b2 was
harmless since after 1...2xd6 2 £xd6
Wy d6 3 Dxbs Weo 4 H1d4 W7 Black
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Sakaev — Rublevsky
Russian Ch (St Petersburg) 1998

has no problems. Changing the mate-
rial balance of the position leads to an
alteration in the style of play, but not,
apparently, to the evaluation of the po-
sition.

1...exd5 2 Dxf5 Ze8?!

Straightaway an inaccuracy. Black
should prefer 2..%d7! 3 Exd5 f6 4
h3 (4 Ee7 is bad owing to 4...Efe8!)
4..Bfe8 5 De7+! &f7 6 Hc5! and
even though Zc7 is not threatened im-
mediately, Black’s position is not easy
to play.

3 DeT+ 218?

Better is 3...%h8 4 Exd5 %d7 al-
though after 5 h3 and 6 Zc5 Black’s
position is unenviable.

4 Exd5 ¥d7 5 h3 a6 6 Zh5!

This is White’s idea.

6...f6

Not 6...h6? because of 7 Exh6!!
gxh6 8 £xh6#.

7 Exh7 Ead8 8 Ze3 Hc8 9 Hxc8
g8 10 b6 Wd8 11 Exe8+ Wxe8 12
d7 ¥d8 13 Zh5 g5 14 2e3 &g7 15
h4! &g6 16 Exg5+! 1-0



